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Each row, column, and box must have the numbers
1through 6. The first box is done.
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Each row, column, and box must have 6 different pictures.
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Name:
Sudoku Sums of 8
Each row, column, and box must have the numbers 1 through 9.
Hint: Look for sudoku sums. The sum of the two boxes inside of the
dashed lines is 8.
Here is an example of a sudoku sum of 8: 1 7
1 2
6 5 8 1 L 7 9
2 9 8
1 9 2
7 . 5
9 3 1 8 6 L
6 2
5 1
7 3 2 9 8
3.96 Chonge;_% toa TRNe
X 6 x 8

decimal.
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edHelper

Each row, column, and box must have the numbers 1 through 9.
4 7 3 9
9 6 1 4
1 2 6
8 1 7
6 S 1
9 1 3 2
6 9
8 7 ) 9
S 9 4
(6+17)+5=2(9+5) o $99 - p = $30
Simplify. What is the value of p?
9 =
21
b =160z
Bb= o /94 - 438 = 8+2=
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Fillin each box of the edHelperKu puzzle, using the numbers from 1to 4.

Every row must contain the numbers 1, 2, 3, and 4.

Every column must contain the numbers 1, 2, 3, and 4.

In a cage with a plus sign, the given number will be the sum of all the digits in the cage.

6+ 6+
3
1234 1234 1234
4 9+ 8+
2 4
1234 1234
7+
1
1234 1234 1234
3 2
1234 1234

Fill in the blanks. These equations are from the puzzle above.

+ + 1 =28 __+3+___ =6

+ + 3 =17 + + 2 + = Q
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